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1. #include <stdio.h>    
2.     
3. int main(void) {    
4.   printf("Hello world\n");    
5. }    

 
1. #include <stdio.h>    
2. #include <xcore/parallel.h>    
3.     
4. DECLARE_JOB(print_int_sum, (int, int));    
5. void print_int_sum(int a, int b)    
6. {    
7.  int result = a + b;    
8.  printf("Int sum is: %d\n", result);    
9. }    
10.     
11. DECLARE_JOB(print_float_sum, (float, float));    
12. void print_float_sum(float a, float b)    
13. {    
14.  float result = a + b;    
15.  printf("Float sum is: %.1f\n", result);    
16. }    
17.     
18. int main(void)    
19. {    
20.  PAR_JOBS(    
21.   PJOB(print_int_sum, (10, 5)),    
22.   PJOB(print_float_sum, (10.0, 5.0))    
23.  );    
24. }    

1. #include <platform.h>    
2. #include <stdio.h>    
3. #include <xcore/hwtimer.h>    
4. #include <xcore/port.h>    
5. #include <xcore/select.h>    
6.     
7. static const long unsigned timer_interval = 100000;    
8.     
9. void lap_timer(port_t button_port, hwtimer_t timer)    



10. {    
11.   unsigned counter = 0;    
12.   unsigned long port_value = port_peek(button_port),    
13.                 button_mask = 0x1;    
14.     
15.   port_set_trigger_in_not_equal(button_port, port_value);    
16.   hwtimer_set_trigger_time(timer, hwtimer_get_time(timer) + timer_interval);    
17.     
18.   SELECT_RES_ORDERED(    
19.     CASE_THEN(button_port, on_button_change),    
20.     CASE_GUARD_THEN(timer, port_value & button_mask, on_timer_tick))    
21.   {    
22.   on_timer_tick:    
23.     hwtimer_change_trigger_time(timer, hwtimer_get_time(timer) + timer_interval);    
24.     counter += 1;    
25.     continue;    
26.     
27.   on_button_change:    
28.     port_value = port_in(button_port);    
29.     port_set_trigger_value(button_port, port_value);    
30.     
31.     if (~port_value & button_mask)    
32.     {    
33.       printf("Counter value: %u\n", counter);    
34.       counter = 0;    
35.     }    
36.     
37.     continue;    
38.   }    
39. }    
40.     
41. int main(void)    
42. {    
43.   hwtimer_t timer = hwtimer_alloc();    
44.   port_t button_port = XS1_PORT_4D;    
45.   port_enable(button_port);    
46.     
47.   lap_timer(button_port, timer);    
48.     
49.   port_disable(button_port);    
50.   hwtimer_free(timer);    
51. }    

 
 

 

$ xcc -target=XCORE-AI-EXPLORER -report -g main.c -o main.xe  
Constraint check for tile[0]:  
  Memory available:       524288,   used:      22664 .  OKAY  
    (Stack: 1644, Code: 19728, Data: 1292)  
Constraints checks PASSED.  



 

 

 

 

$ xgdb main.xe  
(gdb) connect -s  
0x00080000 in _start ()  
(gdb) break print_float_sum  
Breakpoint 1 at 0x80128: file main.c, line 14.  



(gdb) run  
[Switching to tile[0] core[1]]  
  
Breakpoint 1, print_float_sum (a=10, b=5) at main.c:14  
14       float result = a + b;  
(gdb) info threads  
  3  tile[1] core[0]  0x00080006 in _start ()  
* 2  tile[0] core[1]  print_float_sum (a=10, b=5) at main.c:14  
  1  tile[0] core[0]  0x0008010e in print_int_sum (a=10, b=5) at main.c:8  
(gdb) where  
#0  print_float_sum (a=10, b=5) at main.c:14  
#1  0x000801e8 in __xcore_ugs_shim_print_float_sum (__xcore_pargs_=0x84e08) at main.c:11  
#2  0x00081e90 in memmove ()  
Backtrace stopped: frame did not save the PC  
(gdb) thread 1  
[Switching to thread 1 (tile[0] core[0])]#0  0x0008010e in print_int_sum (a=10, b=5) at 
main.c:8  
8        printf("Int sum is: %d\n", result);  
(gdb) where  
#0  0x0008010e in print_int_sum (a=10, b=5) at main.c:8  
#1  0x000801c0 in main () at main.c:20  

 

     
     
     
   
       
     
   
       
      
     
   
     
   
      
                                 
   
   
   
      
   
                  
            
   
                
            
      
   
   
     
   
                



          
      
   
   
     
   
      
   
      
   
      
   
        
   

 

 

 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


